/DIRB
3UDFRZQLN 5RINiDG  PJU = UyEH) —XVINQD  7\J

7N 7N 7N
o4 3UDZQH SRGVIDZ\ 3UDZQH SRGVIDZ\ 3UDZQH SRGVIDZ\
EH]SIHFTHEVIZD 0z PJ EH]SIHFTHEVIZD 0z PJ EH]SIHFTHEVIZD 0z PJ
U = UyEHI -XVINQD =% U = UyEHI -XVINQD =% U = UyEHI -XVINQD =%
wl/ :-$5 w1/ :$5 w1/ :$5
n
oD
D
Lo
[}
=
™
7\¢] 7N
3UDZQH SRGVIDZ\ EH]SIHFTHEVIZD ZDU PJU = UyEH) -XVINQD =% 3RGVIDZ\ SIDZD Z PJU = UyEH!
%15 & -XVINQD = 365 -
7\6] 7N

a 3UDZQH SRGVIDZ\ EH]SIHFTHEVIZD ZDU PJU = UyEH) -XVINQD =% 3RGVIDZ\ SIDZD UZ PJU = UyEH
= %15 & -XVINQD = 365 &
w
< 7\¢]

3UDZQH SRGVIDZ\ EH]SIHFTHEVIZD ZDU PJU = UyEH)

-XVINQD =% %15 &

7\6]

3UDZQH SRGVIDZ\ EH]SIHFTHEVIZD ZDU PJU = UyEH)

-XVINQD =% %l 5
3




